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1. A man can row a boat 12 kmph with the stream and 8 kmph
against the stream. Find his speed in still water?

20 kmph
6 kmph
® 10 kmph
4 kmph
2. If a man can row a boat at 18 kmph in still water and he can row

twice speed in downstream than upstream. Then what will be the
speed of the stream?

® 6kmph
8 kmph
2 kmph
6.5 kmph
3. If a man can row a boat at 20 kmph in still water and he can row

thrice speed in downstream than upstream. Then what will be the
speed of the stream?

@® 10 kmph
40 kmph

25 kmph

6.6 kmph

1 point

1 point

1 point



4.A man can row a boat to a certain distance upstream in 4 hours 1 point
and take 3 hours to row downstream the same distance.What is the
speed of the boat in still water if the speed of the stream is 2 kmph?

6 kmph
3.5 kmph
® 14 kmph
10 kmph
5. Aman can row a boat at 6 kmph in still water and speed of the 1 point

current is 2 kmph.If he takes 45 minutes to row the boat to a place
and back.Find the distance between the two places?

® 2km

4 km
10 km
20 km

6. Speed of a boat in still water is 7 kmph and speed of the current is 1 point
5 kmph. Then, what is the speed of boat in downstream?

2 kmph
® 12kmph
6kmph

17kmph



7. Upstream speed of a person is 15kmph and his downstream 1 point
speed is 25kmph. What is his speed in still water?

40kmph

T10kmph
(® 20kmph

Skmph

8. Speed of a boat in downstream is 20kmph and speed in upstream 1 point
is 12kmph. What is the speed of current?

@® 4kmph
16kmph
8kmph
32kmph

9. Downstream speed of a boat is 25kmph. Speed of the currentis 1 point
2kmph. What is the speed of boat in upstream?

23kmph
27kmph

@® 21kmph

29kmph



10. A man covers 60km in 6 hrs in downstream and covers 40km in 1 point
8 hrs in upstream. Find the speed of the current?

1.2kmph
@® 2.5kmph

2.8kmph

2kmph

11. Rajesh can row 18kmph in still water. It takes him twice as long 1 point
to row up as to row down the river. Find the speed of the stream?

2 kmph
5 kmph
8 kmph
@® 6kmph

12. A man's speed in downstream is 3 times his speed in upstream. 1 point
If his speed in still water is 18 kmph, find the speed of the current?

6 kmph
® 9kmph
15 kmph

18kmph



13. A boat travels downstream covers a certain distance in 6hrs and 1 roint
it covers that distance in upstream in 9hrs. If the speed of the
current is 4 kmph, fi d the speed of the boat in still water?

25 kmph
18 kmph
(® 20 kmph
22 kmph

14. Speed of a boat in still water is 5 kmph and speed of the current 1 point
is 4 kmph. What is the speed of the boat in downstream?

7 kmph
® 9kmph
8 kmph
6 kmph

15. Upstream speed of a boat is 12 kmph and it's downstream 1 point
speed is 10 kmph. What is the speed of the boat in still water?

@® 11 kmph
20 kmph

10 kmph

15 kmph



16. Speed of a boat in downstream is 30 kmph and speed in 1 point
upstream is 12 kmph. What is the speed of the current?

8 kmph
® 9kmph
10 kmph

12 kmph

17. A man's speed with current is 15 kmph and the speed of the 1 point
current is 2.5 kmph. What is the man's speed against the current?

10.5 kmph
12.5 kmph

13.5 kmph

® 10 kmph

18. If Anil rows 15 km upstream and 21 km downstream taking 3 hrs 1 point
each time. What is the speed of the stream?

3 kmph
4 kmph

@® 1 kmph

5 kmph



19. A man's speed in downstream is twice his speed in downstream. 1 point
Find the speed of the current if his speed in still water is 12 kmph?

® 4kmph
6 kmph
7 kmph
3 kmph
20. A boat travels downstream covers a certain distance in 6hrs and 1 roint

it covers that distance in upstream in 9hrs. If the speed of the
current is 4 kmph, find the speed of the boat in still water?

7.5 kmph
3 kmph
15 kmph

@® 20 kmph

21. Aman's speed in downstream is 3 times his speed in upstream. 1 point
If his speed in still water is 10 kmph, find the speed of the current?

6 kmph
@® 5kmph
4 kmph

3 kmph



22. The speed of a boat along the stream is 12 kmph and against 1 point
the stream is 8 kmph. The time taken by the boat to sail 24km in still
water is

2 hrs
3 hrs

@® 2.4hrs

1.2 hrs

23. A man can swims in the still water at a speed of 5 kmph and 1 point
speed of the current is 2 kmph. What will be the time taken by him to
swim a distance of 18 km upstream?

5 hrs
® 6hrs
7 hrs
9 hrs
24. A boat can travel with a speed of 22kmph in still water. If the 1 point

speed of the stream is 5kmph, find the time taken by the boat to go
54 km downstream?

5hrs
4 hrs

3 hrs

@® 2hrs



25. In ariver flowing at 2 kmph, a boat travels 32 km upstream and 1 point
then returns downstream to the starting point. If it's speed in still
water be 6 kmph, find the total journey time?

10 hrs

@® 12hrs

14 hrs

16 hrs

4

This content is neither created nor endorsed by Google.


https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

